Short answer only- I do not want this in excel. If you can just show what numbers are used to calculate the answer – along with the answer, so I know how to do these types of problems in the future.  I need to see how you got the answer so I am able to do it in the future- thanks!!!

1. A Company has the following information for the year ended 12/31/04: 
Sales of $9,125,000, Cost of Goods Sold of $3,650,000, average Accounts Receivable were $1,500,000, average Inventory was $500,000 and average Accounts Payable were $750,000. Calculate the following (use 365 Days):

a. Inventory Conversion Period 

b. Receivables Conversion Period

c. Payables Deferral Period 

d. What is the cash conversion cycle for this company? 

2.  Ratios  The following data are taken from the financial statements of The Dugan  

       Company, which has 10,000 shares outstanding.  The data are in alphabetical order:


Accounts payable
$ 24,000
Net income
$  34,000


Accounts receivable
  20,000
Net sales
425,000


Cash
  35,000
Other current liabilities
20,000


Stockholders’ Equity
120,000
Salaries payable
6,000


Gross profit
165,000
Total assets
250,000


Inventory
  45,000


      Instructions
Compute the following. Assume Balance sheet amounts were the same at the beginning of the year:

a. Current Ratio:

b. Profit Margin:

c. Return on assets
d. Earnings Per Share

3. The Global United Moving Company specializes in hauling heavy goods over long distances. The company’s revenue and expenses depend on revenue miles, a measure that combines both weights and mileage. Summarized budget data: (10 points)

Per Revenue Mile

Average Selling Price (revenue)



$1.50

Average variable expenses




  1.30

Fixed expenses





$110,000

a. What is the unit break-even point for Global?


b. If revenue miles are 800,000, what will be Global’s net income?


